臺北巿立教育大學

九十九學年度研究所碩士班入學考試試題
所    別：自然科學系碩士班(科學組物理科) 
科    目：近代物理
考試時間：90分鐘【13:30 − 15:00】
總    分：100分
· 注意：不必抄題，作答時請將試題題號及答案依照順序寫在答卷上；限用藍色或黑色筆作答，使用其他顏色或鉛筆作答者，所考科目以零分計算。(於本試題紙上作答者，不予計分。)
1、 A particle (rest mass 
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) has a kinetic energy half its internal rest energy. (a) What is its speed? (b) Calculate its momentum.(10%)
2、 A particle (E=1.26  eV) is known to be in the ground state of an infinite one-dimensional well of width L, (a) Evaluate the probability to find the particle between  x=L/3 and x=2L/3. (b) How much energy must be added to the particle to reach the second excited state.(20%)
3、 To identify the outer filled subshell by the quantum numbers n and l,if n=5, l=3,what is (a) the designation of the subshell (b) the capacity of subshell.(10%)
4、 A certain element emits a 
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ray of wavelength 0.1940 nm. Identify the atomic number Z for the element.(10%)
5、 (a)請寫出薛丁格波動方程式並說明之。(b)對於氫原子的1s狀態電子，其徑向機率密度函數為
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其中r0 = 0.0529 nm，稱為波耳半徑(Bohr radius)。請問在最可能找到電子的位置上，其r值為何？(25%)
6、 (a)請說明海森堡測不準原理。(b)對於速率為4 ( 106 m/s的電子，如果其速率的不準量為0.1 %，則位置上的最小不準量為何？(普朗克常數h = 6.626 ( 10(34 J(s，電子質量m = 9.109 ( 10(31 kg) (25%)
不得使用計算機或任何儀具。
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